Tools, Proofs & Transversals

Name

Quarter 1 Review 1

1. Part of a proof is shown. Place statements and reasons in the table to complete the proof.

Given LE = MR,EG = RA

Prove LG = MA E / f 4 ?

Ay R, M

. LAl { e

Statement Reason
- .

EG=K#4 a. Given

o TEZmT
b. LE = MR
EG =RA

c. LG=LE+EG
MA = MR + RA

d. LG=MR+RA

L= pmhA

2021 Question 37

b. {n 6“

d. Substitution Property of Equality (double)

e. Substitution Property of Equality

; &,'F" 6‘? Cﬂg’mu+ %4{5

A diagram is shown, where k i/ and Move statements and reasons to the table to prove

61

m is a transversal. that 21= ¢5.
m
Statements Reasons
‘_» 1. kil 1. Given

= ] % 5 5. 2. Corresponding angles
- 3}65 .’_,; ~ are congruent.

3. 132 3. Verhis\! angey ag  CongruT

/ 4, 1= ¢5 4. Tra-Sifre M&d\'/

‘/
Ll= 22 L1= <23 L1= <44 L2= 243
L2m 24 L2m £S5 2= ,6 4£3= £4
V13245 c4=:5 ,4=,6

Transitive property Symmetric property
Vertical angles are congruent. v
Straight angles form a linear pair.
Corresponding angles are congruent.

Alternate exterior angles are congruent.
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2. Which term is defined as an angle formed by
two opposite rays?
traight angle
B. Vertical angle
C. Corresponding angle
D. Complementary angle

3. Kevin asked Olivia what the Supplement
Theorem is. Olivia responded, “mz41 +
ms2 = 180.” What definition did Olivia
actually give?

A. Definition of a straight angle

@ Definition of supplementary angles
C. Definition of complementary angles
D. Definition of transversal

4. Jeremy wants to know the density of a rock
in grams per cubic centimeter. The rock has
a mass of 4.45 kilograms and a volume of
508 cubic centimeters.

[What is the density of the rodk, in graphs per

cubic centimeter( g )?

3

cm3

H.H«S 6 / 000 &

= 44sPg
(43

5. Line £ has a slope of 4. Line j is
perpendicular to line £ and passes through
the point (-2, 8). Create the equation for line

6. AC has endpoints A(-1, -PQ) and C(5, ).
Point Bis on AC and is located at (0.2, X).

hat is the ratio of E?)
BC

4
Poit-  Slapp (orad -Sfe-
(2.8) w4 yovEmben)
Awms g N .g:’-‘_/{(;“:)
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rod L
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7. A study reports that in 2010 the population
of the United States was 308,745,538 people
and the land area was approximately
3,531,905 square miles.

~ Based on the study, what was the )
pogulation density, in people per square
mile, of the United States in 2010? Round

your answer to the nearest tenth.

g7.4

square mile

36§, 24S, 538 ol

people per

. = §r4¢/.
2,531,305 mt 74



8. Square ABCD has vertices at A(1, 2) and
B(3, -3).|What is the slope of BC? )

Name 63

10. Point A is located at (4, -3). The midpoint of line
segment AB is point C(1, 2). What are the
coordinates of point B?
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9. The graph of line m is shown
N\ |10l |

3
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6 -5 -4 -3 -2 -10
o !

What is the equation of the line that is
perpendicular to line m and passes through the

point (-2, 4)?

Poiat olapt foint ~Slepe fo-

(—3. W) wm= ~z y-Y, swl¥x,)
dm=% y-4zE(x=3)

2018 Question 15

Square ABCD has vertices at A(1,2) and B(3, —3). What
is the slope of BC?
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2017 QUESTION_ 16 aw Coplave-

Kevin asked Olivia whaf parallel linesjare. Olivia responded, “They are lines that never intersect.” What important piece of
information is missing from Olivia’s response?
e. The lines must be straight.

Qw
g. The lines can be noncoplanar.

h. The lines form four right angles.

2018 Question 39

Part of a proof is shown. Place statements and reasons in the table to complete the proof.

Given: m || n and transversal p
Prove: £5 = 24

Statements Reasons
5. m || n and transversal p & (VA
6

LS =SLY Verhcel angle theoew
TR LY Cg)fregmvduj anges 2o lX

8. /5= .4 Traasche FPVO%H VAN
L8 =41 Vertical angles theorem
L1 =44 Corresponding angles postulate
L8 = /4 Transitive property
VAR 74 Alternate exterior angles theorem
LS =47 Reflexive property
La =47 Angle addition postulate
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Name 65

Quarter 1 Review 2

1. Part of a proof is shown. Place statements and reasons in the table to complete the proof.

Givenz1 = £3
5
1 2

Prove 22 = 24 -

Statement

< 3 »
4
6
Reason

> =L

b mlL|[Z=wmLY

L1 ad L2 are Lintar he
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2. Which term is defined as nonadjacent angles
formed by two intersecting lines?
A. Straight angle
@Vertical angle
C. Corresponding angle
D. Complementary angle

3. Kevin asked Olivia what the Alternate
Interior Angles Theorem is. Olivia responds,
“When a transversal intersects two lines, the
alternate interior angles are congruent.”
What is wrong with Olivia’s responds?

A. She should have said the alternate
interior angles are supplementary,
instead of congruent.

B. She should have said the alternate
interior angles are complementary,
instead of congruent.

She should have said the transversal
intersects two parallel lines.

D. She should have said the transversal
intersects two perpendicular lines.

4. Jeremy wants to know the density of a pop
tart in grams per cubic centimeter. The pop
tart has a mass of 0.00183 kilograms and a
volume of 97 cubic centimeters.

I AMha&-u-s—t-he.dena&y of the pop tart, in graphs

per cubic centimeter (%)?
cm

1-83 g
_—W cm3

C.oolR3 ¥4 locog _ 1.83g
A

5. Line £ has a slope of — % Line 4 is

_perpendicular to line £ and passes through
the point (-4, -5). Create the equation for

line 4.
{oiat Slaig (Port Suge forr
6—:1’5) wm=-% \l—\(,:m(*-\c,\

Am= T2 N tST - (x+4)
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6. AC has endpoints A{\4) and C(¥.8). Point
Bis on AC and is located at (% 6). Whatis

. AB
the ratio of —?
BC

Nvale$

BC: f@f}" Ls°
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—
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7. A s@aﬂvreports that in 2016 the population
of the Gnaden was 1,283 people and the
land area was approximately 0.96875 square
miles.

Based on the stud@

( population density, in_people per square.
mile, of the United States in 2016? _Round
your answer to the nearest tenth.

132¢.4

people per
square mile
12 83pe'e 1354 4
©. 7S mC T ‘



8. Square ABCD has vertices at A(8, -2) and
B(5, -6). What is the slope of CD?

2
l@ E-2)

R(Si)

T BY L 2ol9)

MA'(B = -5

-4
3

SR w1

9. The graph of line m is shown

S

w

7

What is the equation of the line that is
nd passes through the

point (4, -2)?

Name 67

10. Point A is located at (-5, 2). The midpoint of line
segment AB is point C(1, -4). What are the

/])D{ﬂ-\- Qﬁg ?Om’) - ype 7CY“”
C’{)’D) m= 9/3 NNi< w(x- \\l)
A T NP2 ()

coordinates of point B? [ -740)
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2017 Question 31 - 2G:)

Which term is defined as two intersecting lines that form
four right angles in a plane?

a. Skew lines
Stralght lines

| lines
C] erpendlcular 1nes

2018 Question 9

Line k has a slope of -5. Line j is perpendicular to line k
and passes through the point (5,9). Create the equation

for line J.
W]‘*\‘ | St
Sy R, m="3
Q) M* %
Pt ~ Sloge
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K
2021 Question 22
A triangle JLM and line segment KN are given.
J N M
A proof of % = j—z is shown.
Statement Reasons
AJLM Given
0 Given
. ,/ \
ZJNK = 2JML < Corresponding a;gles are COIll\ggnlleIEt“ )
Lol e §
LJKN = 2]LM S AL & L
AJKN = AJLM Angle-angle similar triangle postulate
JK JN Corresponding parts of similar triangles are proportional
JL M
Which statement must be added to the given to keep this proof valid?
A. JL1LLM
B. KN L LM
C. JLI LM
. KNI LM
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